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Multiple Choice
| dentify the choice that best completes the statement or answers the question.

1. Describe how the graph is like the graph ®fx| and how it is different.
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a. The graphs have the sayamtercept. The graph above is steeper thanx|.
The graph is the same as [X|.
c. The graphs are the same shape.yFinéercept ofy = |x| is 0 and the-intercept of the

graph above is4.
d. The graphs are the same shape.yFinercept ofy = |x| is 0 and theg-intercept of the

graph above is4.
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2. Describe how the graph is like the grapy ®fix| and how it is different.
)
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a. The graphs are the same shape.yfiheercept ofy = |x| is 0 and the-intercept of the

graph above is7.

b. The graphs are the same shape.yFinéercept ofy = |x| is 0 and the-intercept of the
graph above is7.

c. The graph is the same as [x|.

d. The graphs have the sagamtercept. The graph above is steeper thanx|.

3. Describe how the graph is like the grapy ®fix| and how it is different.
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a. The graphs have the saynmtercept. The graph above is steeper thanx|.
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The graphs are the same shape.yFinéercept ofy = |x| is 0 and the-intercept of the

graph above is11.
c. The graph is the same as [x|.

d. The graphs are the same shape.yFinercept ofy = |x| is 0 and theg-intercept of the

graph above is11.
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7. Graply =|x|-¢€
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8. Graply=|x|+ 3.

a.
10
Q
re
4
]
108 6 4 2 /\t\f
A
A
46
/
-8
/
10
b.
10
8
N

//

]

|
(=4
|
%
|
[}
|
=
|
1S}

]

&k

N
<=}

[e=]

Write an equation for each trandlation of y = |x|.

9. 6 units down
a. y=|x|+6
b. y=|x|-€

10. 3 units down
a. y—3=|x|
b. y=|x|+3

11. 6.5 units up
a. y=|x|+6.5

b. y=|x|-6.t
12. 5.5 units up

a. y=|5%|

b. y=|x|+55
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y=|-6x|
y—€=|x|
y=[x[-2
y=|-3x|
y=|6.X|
y+6.5=|
y=|x|-5.k
y+55=|




13. 12.5 units up

a. y+125=K| C. y=|x|+125
b. y=|x|-12.t d y=|12.X%]|
14. 6 units left
a. y=|x+6| b. y=|x-6] C. y=|x|+6 d y=|x|-6

15. 16.5 units right
a. y=|x-16.t]| b. y=|x|+16.5 Cc. y=|x|-16.k d y=|x+16.5|

Graph each equation by trandatingy =| x |.

16. y=|x+6]|
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17. y=|x+ 2|
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18. y=|x+4]|
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19. y=|x-7|
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